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The figure shows the velocity-time graph for a car through an elastic collision. Which of the following statements is trv .
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The speed of the car increased after collision

The car moved 1n the opposite direction after collision

The cart moved 1n the same direction after collision

The car stopped after collision
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P2: Kinetic en-
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V' u may use any of the given consta-  _d equations where needed:
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A crane lifts a 300 kg load at a constant speed of 4m/s. What is the average power developed by the crane?
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k2ol .2 W = AK = —AU For a special case wnere P, ., =0
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735 kW
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P1: dimensiona’ aalysis -
Which of the following is a correct unit of Power? e
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W, =—mgh K+U=Ky;+U, AP = ] = FAt
e _;_mvz B AR = <A For a special case where P;; , =0
.y 2Zm, ]
vfl.! = l'nl + my 2
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P2: Kinetic .iergy, work and power G

A tennis ball has a kinetic energ” of 40J. The velocity of the ball is doubled, how muc! kinetic energy the ball will F .« . ?
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You may use any of the given  stants and equations where needed:
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For a special case where P;; , =0
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Part 3 3 el

Jis)

Question ! !

A 0 1kg ball travelling horizontally ) a0 kg WS s S pila
at 25m/s, strikes with a wall at a right e 55 5 25m/s Ae jeu Al
angle and rebounds with a speed L oaSlaall slad¥) (A 1 9m/s A= e
of 19m/s in the opposite direction. What fa S 4l gall il )l
Is the impulse that the ball experignces?
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